YK1200X

@ Arm length 1200mm 2@ Maximum payload 50kg
M Ordering method

YK1200X- 400 | |- RCX340-4 - - - - - - i
| Modet I Zaxisstroke | cCable [ Controller / B Safety & OptionA [ OptonB & OptonC & OptonD & OptionE &  Absolute
3L: 3.5m Number of controllable axes standard (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery

I5L: 5m

Specify various controller setting items. RCX340 > P.566

M Specifications H Controller

X-axis Y-axis Z-axis R-axis Controller |Power capacity (VA) Operation method
Axis Arm length 600 mm 600 mm 400 mm - Programming /
specifications [Rotation angle +/125° +/-150 ° - +/-180 ° I/0 point trace /
RCX340 2500 Remote command /
AC servo motor output 900 W 800 W 600 W 400 W Operation
. S ot Timing belt Timing belt using RS-232C
Decehlergtlon Tratnhsn;lssmn Motor to speed reducer Direct-coupled transmission | transmission communication
mechanism |metho
! Speed reducer to output Direct-coupled Direct-coupled | Direct-coupled
Repeatability "' +/-0.05 mm +/-0.02 mm +/-0.005 °
Maximum speed 7.4 m/sec 0.75 m/sec 600 °/sec
Maximum payload 50 kg
Standard cycle time: with 2kg payload “**°* 0.91 sec
R-axis tolerable moment of inertia "°t¢?® 2.45 kgm2 Note. The movement range can be limited by changing the positions
— - of X and Y axis mechanical stoppers. (The movement range is
User wiring 0.2 sq x 20 wires set to the maximum at the time of shipment.)
User tubing (Outer diameter) $6x3 See our robot manuals (installation manuals) for detailed
g information.
Travel limit 1.Soft limit 2.Mechanical stopper (X,Y,Z axis)
- Our robot manuals (installation manuals) can be
Robot cable length Standard: 3.5 m Option: 5m, 10 m downloaded from our website at the address below:
Weight 124 kg httos-flalobal . huei robot!

Note 1. This is the value at a constant ambient temperature. (X,Y axes)
Note 2. When reciprocating 300mm in horizontal and 25mm in vertical directions.
Note 3. The acceleration coefficient is set automatically in accordance with the tip weight and R-axis moment of inertia settings.

4 N\
YK1200X
Aux. shaft fixing plate
70 600 600 210
5 Bl
D-sub connector for user wiring & 2 o | $10 (Use when tightening
(No.1 to 20 usable) o 2 \G the lower M16 screw)
w -
2 4 ‘ ‘%‘{ \% 8 @ glels g Hollow diameter: 12
N ~ L RO BN 25 002
User tubing 1 (¢6 Black) r;‘é 103] 97 M16 x 2 Depth25
User tubing 2 (¢6 Red) 140 [12] \ 4414
User tubing 3 (¢6 Blue) 252 M12 bolt used for installation
(base size) Z axis tip shape
1168 i Ball screw greasing hole s
2x2-M4x0.7
Depth10 830
(Same on ) 783
opposite side) \
— > \
[
(=]
E 541 “’I% i \ﬁuf‘zo = 542.3  R35 (Min. cable bending radius)
= 5 | | ! =X Do not move the cable.
< 38142 B m‘f 510 i E‘!_r Mo 390 M4 ground terminal L] |
<~ 25 -0.01 1 User tubing 1 (6 Black |
$25 002 i User tubing 2 (&6 Red L } D-sub connector for user wiring
§| \W16x2Depth2s L At User tubing 3 (6 Blue) N\\| | | | {No-1to 20 usable)
g8 4-012 67 \
| L =75 49 47
0 b 29 0
Keep enough space for the maintenance 0
work at the rear of the base.
A J

422 RCX340 > 566






